1715 -3 Cyl
Compact Tractor 15
Series (02/93 - 08/97)

CNH | @rovoume

INDUSTRIAL

07e04 - Rear
Transmission Case &
Shifter W/9 X 3

03 - Transmission

N
- §% NEW HOLLAND

INDUSTRIAL



Variants

Model Information

Serial Number ranges

Production Dates

# Part # Part Name Description Qty
| SBA322014674 SUMP Casing Assy., Includes: Ref. 2 thru |
4
| SBA322014675 CASING Assy., Includes: Ref. 2 thru 4 |
2 SBA030501025 BALL STUD MI0x 25 L DOWEL,, Pin MI0O x 25 L 5
3 SBAOI2111025 BOLT Stud, MI0 x 25@@Used With 7
SBA322014674 Casing Assy
3 SBAOI2111025 BOLT Stud, MI0 x 25@@Used With 8
SBA322014675 Casing Assy
3A SBAO12110816 STUD Bolt, M8 x 16 |
4 SBAO12111080 BOLT Stud, M10 x 80 2
5 SBAOI 1511030 CAPTIVE WASHER SCREW Hex,SCREW, CAPTIVE WASHER, |
MI10 x 30, G5 Hex, M10 x 1.5 x 30, G5
6 SBA324411570 FORK Shifter |
7 SBA324200870 ARM Shift |
8 SBA052100140 O-RING - 2
9 SBA398210280 SPRING - |
9A SBA398210280 SPRING Used With SBA324312150 Shifter |
Rod
l

CN- | @rewsoune

INDUSTRIAL




20

21

22

23

24

25

26

27

Part #

SBA398210460

86624944

SBA324200880

SBA398460010

SBA324320600

SBA030300625

SBA324312150

SBA324312151

SBA324411671

SBA324411671

SBA324312140

SBA036800012

SBA324103110

SBA025100014

Part Name

SPRING

BALL 8.73mm OD, Gr 24

ARM

PLUG MI9

BOOT

PIN

ROD

ROD

SHIFT, FORK

SHIFT, FORK

ROD

SNAP RING

LEVER

Description

Used With SBA324312151 Shifter |

Rod

Shift

Blank

Boss, Shifter

Spring, 6" x 25"
Shifter@@Used With

SBA398210280 Spring
Shifter@@Used With (1)

SBA398210280 Spring & (1)
Fork, Shifter, PTO

PTO

Shifter

Ring, Snap

Change, PTO

SEALING WASHER 14.4mm ID x Washer, Seal

2Imm OD x 2mm Thk

SBA399564790 PLATE -
SBAOI11510820 CAPTIVE WASHER SCREVV Hex,SCREVV, CAPTIVE WASHER,
M8 x 20, G5 Hex, M8 x 20, G5
SBA030300632 SLOTTED PIN M6 x 32 PIN, SLOTTED, Mé x 32
SBA399430740 BOLT -
SBA064200018 CAP Sealing, 18mm, Freeze Plug
SBA322200770 COVER Case
SBA322991031 GASKET -
i
L7
cm 8% NEW HOLLAND

INDUSTRIAL



28

29

30

31

31

32

33

33

Part #

SBA064600016

SBA025100016

SBA324560140

SBA199280290

SBA199280300

SBA385201260

SBA398460390

SBA322140960

Part Name Description Qty

PLUG - |

SEALING WASHER 16.4mm ID x Seal, #16 |
27mm OD x 2mm Thk

PIN - |

SHIM 0.2mm Thk - AR

SHIM 0.5mm Thk - AR

SWITCH Safety, Rear PTO |

PLUG MI5 Used with SBA322014673 Casing |
Assy

PLUG MI6 Used with SBA322014674 Casing |
Assy

CNH | _Srevmounmo

INDUSTRIAL




